
2019-17-09 - rev 7

www.locinox.com

+32 56 77 27 66

help@locinox.com

www.locinox.com/excentro

www.locinoxusa.com

877- LOCINOX

helpusa@locinox.com

www.locinoxusa.com/excentro

LOCINOX HQ LOCINOX USA

EXCENTRO

1

2

3

4

5 6

7

8

9

10

11

12

5

4

3

2

1

Min. 35 mm
Min. 1-3/8"

X

Y

A
1

B
1

5432

21

2

7

7

=
=

=
=

Min. 60 mm
Min. 2-3/8"

M
in

. 3
0 

m
m

M
in

. 1
-3

/
16

"
M

in
. 3

0 
m

m
M

in
. 1

-3
/

16
"

Max. X Max. Y

1

115 mm
4-1/2"

22 mm
7/8"

2

3

4

5 100 mm
3-15/16"

5 mm
3/16"



3

2019-17-09 - rev 7

5

M14x70 mm M14x70 mm

5

HEX
4 mm

HEX
4 mm

HEX
4 mm

9

1

12

9

12

1

10

11

10

11

22 mm 22 mm

A
4

B
4

C
4



5

4

3

2

1
X

5

2019-17-09 - rev 7

%

6

22 mm

40%

35%

30%

25%

20%

15%

10%

5%

0%%

X

M14x60 mm

M14x60 mm

4

3

750 mm
2-15/16"

1000 mm
3-15/16"

1250 mm
4-15/16"

1500 mm
5-15/16"

1750 mm
6-7/8"

2000 mm
7-7/8"

1

2

3

4

5



pictures@locinox.com

SUCCESSFUL  
INSTALLATION?

Please send us your  
pictures & videos

SUCCESVOLLE 
INSTALLATIE?

Stuur gerust uw foto's  
& video's door

INSTALLATION  
RÉUSSITE?

Veuillez nous envoyer  
vos photos & vidéos

ERFOLGREICHE  
INSTALLATION?

Bitte senden Sie uns  
Ihre Bilder & Videos

INSTALACION  
EXITOSA?

Por favor envíenos  
sus fotos y videos

UDANA  
INSTALACJA?

Prześlij nam swoje  
zdjęcia i filmy

УСПЕШНАЯ  
УСТАНОВКА?

Пожалуйста, отправьте нам 
свой фотографии и видео

2019-17-09 - rev 7

Loc inox nv • Mannebeeks t raat  21 • B-8790 Waregem • Belg ium
Tel .  +32 (0)56 77 27 66 • Fax.  +32 (0)56 77 69 26 • E-mai l :  in fo@loc inox.com

D o c .  N r. :  M A N U - 0 0 0 4 21

7

8

6

6

2

2

1

8

6

6

2

1

2

HEX
10  mm

22 mm

22 mm

A
8 9

B
8

4

RHINO

* M A N U - 0 0 0 4 2 1 *


